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									                 A fldgi
jdia;úl mÍlaIK m%Yak (OTQs)
wksjd¾h m%Yak y; ^07& ls’

(uq¿ ,l=Kq 20)

1 jk m%Yakh i|yd fhdað; W;a;r 

1.1	 (2)      240,000 / 600,000	 =	 40%	 (,l=Kq 02)

1.2	 (3)      idudkH fldgiaysñhka i|yd ia:djr ,dNdxY f.ùug lsisÿ j.lSula ke;'

	 (,l=Kq 02)
1.3	 (4)	 (,l=Kq 02)

1.4	 (1)	 merKs fudag¾ r:h úlsKSfuka ,o uqo,		  3,200,000
		  (-) Y=oaO fmd;a w.h

	    		  msßjeh		  5,000,000
	    		  iuqÉÑ; laIh 31.03.18		  (2,000,000)	 (3,000,000)
	      		     bj;a lsÍfï ,dNh			   200,000	 (,l=Kq 02)

1.5	 A	 - 3  -  3	 = 	 6 - 3	 = 	  3
		    5 	  10  	 = 	  10	 =	 10

	 C	 - 2  -  2	 =	 4 - 2	 =	  2
		    5    10		    10		  10

	 A yd B w;r N=la;s ú£fï wkqmd;h =  3 : 2	 (,l=Kq 02)

1.6
fm!oa.,sl iud.ï yjq,a jHdmdr

j.lSu iSñ;hs j.lSu wiSñ;hs

iud.ï mk; u.ska md,kh fõ' yjq,a jHdmdr wd{dmk; u.ska md,kh fõ'

fldgiaysñhkaf.ka fjka jQ ffk;sl 

mqoa.,fhla f,i ye¢kafõ'

kS;suh mqoa.,Ndjhla ke;'

Wmßu fldgialrejka .Kk 50 ls' Wmßu yjq,alrejka .Kk 20 ls'

(,l=Kq 03)

YS% ,xld .KldêlrK Ys,amSh wdh;kh
wOHdmk yd mqyqKq lsÍï wxYh

AA2 úNd.h - 2018 cQ,s
(AA21) Wiia uQ,H .sKqïlrKh

fhdað; W;a;r
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1.7	 m<uq tall 300 úlsÍu i|yd wdrïNl f;d.fha jQ tall 500 Ndú; l< yelsh' b;sß 200" tall 

250 ksl=;a lsÍfï§ Ndú; lrhs' wvq m%udKh tall 150 ka ksl=;a l< yelsh'

	 tuksid wjidk f;d.h	 100 x 150	 =  15,000
(,l=Kq 03)

	 úl,am W;a;rh

	 f;d.fha w.h	 	 =	 100 x 150
						     15,000

1.8	 1.	 .<mkq fkd,nk isÿùula

	 2.	 .<mkq ,nk isÿùula

	 3.	 .<mkq ,nk isÿùula

	 4.	 .<mkq fkd,nk isÿùula

(,l=Kq 04)
(uq¿ ,l=Kq 20)

A fldgfiys wjidkh'
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										          B fldgi
wksjd¾h m%Yak my ^05& ls'

(uq¿ ,l=Kq 25)

2 jk m%Yakh i|yd fhdað; W;a;r 
(a)
			               		 ßfldaka fÜ%v¾ia

2018 uehs 31 Èkg .<mk ,o uqo,a md,k .sKqu

	 fYaIh b$f.	 49,000	 fplafmd;a .dia;=	 3,500
			   fYaIh m$f.	 45,500
		  49,000		  49,000

(,l=Kq 02)
(b)
	 ßfldaka fÜ%v¾ia

	 2018 uehs 31 Èkg nexl= iei÷ï m%ldYh

	

	 úia;rh							                          + / -	 jákdlu 

			                                                                                    re.

	 .<mk ,o uqo,a fmd;g wkqj fYaIh			   45,500

	 (+) ksl=;a l< kuq;a f.ùug bÈßm;a fkdl< fplam;a

		  265975		  12,300

		  266105		  3,200

		  266115		  60,000	 75,500

					     121,000

	 (-) ;ekam;a l< kuq;a Wm,íê fkdjQ fplam;a

		  452122		  (25,000)	 (25,000)

					     96,000

	 nexl=fjka ,o jerÈ igyka			   (13,200)

	 nexl= iei÷ï m%ldYhg wkqj fYaIh 			   82,800

(,l=Kq 03)
(uq¿ ,l=Kq 05)
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3 jk m%Yakh i|yd fhdað; W;a;r

fijK ydâfjhd¾

Khysñ md,k .sKqu

	 uqo,a	 450,000	 fYaIh b$f.	 860,000
	 jÜgï	 4,300	 .ekqï	 350,000
			   w.re fplam;a	 12,600
	 fYAIh m$f.	 768,300
		  1,222,600		  1,222,600
			   fYaIh b$f.	 768,300

(,l=Kq 03)

fijK ydâfjhd¾

Kh.e;s md,k .sKqu

	 fYaIh b$f.	 1,565,000	 uqo,a	 725,200
	 úl=Kqï	 750,000	 jÜgï	 14,800
			   fYaIh m$f.	 1,575,000
		  2,315,000		  2,315,000
	 fYaIh b$f.	 1,575,000
	 (,l=Kq 02)

(uq¿ ,l=Kq 05)

4 jk m%Yakh i|yd fhdað; W;a;r

	 jegqma md,k .sKqu

	 Wmhk úg f.ùï (PAYE)	 180,000	 uQ,sl jegqm	 7,320,000
	 Kh	 50,000
	 fiajl w¾:idOl wruqo, (EPF)	 585,600
	 uqo,a	 6,504,400
		  7,320,000		  7,320,000

(,l=Kq 03)
f.úh hq;= fiajl w¾:idOl wruqo,a .sKqu

	 fYaIh b$f.	 1,464,000	 jegqma md,k .sKqu	 585,600
			   EPF úhoï .sKqu	 878,400
		  1,464,000		  1,464,000

(,l=Kq 02)
(uq¿ ,l=Kq 05)
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5 jk m%Yakh i|yd fhdað; W;a;r

wu,a" lu,a" ksu,a yjq,a jHdmdrh

2018 ud¾;= 31 Èfkka wjika j¾Ih i|yd 

,dNd,dN úi¾ck .sKqu

Y=oaO ,dNh				    2,329,000
	 m%d.aOkh u; fmd,S	 wu,a 	 - 10%	 (200,000)
		  lu,a	 - 10%	 (200,000)
		  ksu,a	 - 10%	 (100,000)	 (500,000)
					     1,829,000
	 jegqma	 lu,a	 60,000	 (720,000)
		  ksu,a	 25,000	 (300,000)	 (1,020,000)
					     809,000
	 ,dN fldgi	 wu,a	 2	 (323,600)
		  lu,a	 2	 (323,600)
		  ksu,a	 1	 (161,800)	 (809,000)
					     -

(,l=Kq 05)

6 jk m%Yakh i|yd fhdað; W;a;r

(a)		 			   c¾k,a igyka	                                 (re. ‛000)
lS¾;skdu .sKqu

   m%d.aOk .sKqu  - ika

                                uQka

(lS¾;skduh .sKqï.; lsÍu)

yr

ner

ner

3,000
2,000
1,000

m%d.aOk .sKqu   - ika

                              uQka

   lS¾;skdu .sKqu

(,dN fnod.ekSfï wkqmd;hg lS¾;skduh .e<mSu)

yr

yr

ner

1,000
2,000

3,000

fudag¾ r: .sKqu

   m%d.aOk .sKqu  - uQka

(w;sf¾l m%d.aOkh .sKqï.; lsÍu)

yr

ner

2,000
2,000

lS¾;skduh .Kkh lsÍu - úl,am W;a;rh

m%d.aOk .sKqu  - ika

                             uQka

m%d.aOk .sKqu  - ika

                             uQka

(lS¾;skduh .sKqï.; lsÍu)

yr

yr

ner

ner

1,000
2,000

2,000
1,000

(,l=Kq 05)

05

B fldgfiys wjidkh'
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										          C fldgi
wksjd¾h m%Yak ;=k ^03& ls'

(uq¿ ,l=Kq 30)

7 jk m%Yakh i|yd fhdað; W;a;r
a)
	 frdaia iudch

	 2017'12'31 Èfkka wjika j¾Ih i|yd fjf<| yd ,dNd,dN .sKqu		    (re.‛000)
úl=Kqï		  30,000
úl=Kqï msßjeh

	 wdrïNl f;d.h	 7,000
	 .ekqï	 18,000
	 wjidk f;d.h	 (5,000)	 (20,000)
o< ,dNh		  10,000
úhoï

	 wfkl=;a úhoï	 (3,400)
	 úÿ,sh  (1,500 x 1/3)	 (500)	 (3,900)
Y=oaO ,dNh		  6,100

(,l=Kq 03)

b)
	 frdaia iudch

	 2017'12'31 Èfkka wjika j¾Ih i|yd wdodhï úhoï .sKqu	 	 (re.‛000)
wdodhï

	 mß;Hd.		  6,000
	 Y=oaO ,dNh (10,000 - 3,900)		  6,100
	 álÜ úl=Kqï		  25,000
	 idudðl odhl uqo,a  (fmrjev-1)		  3,900
			   41,000
úhoï

	 kdgH i|yd wdrdê; Ys,amSkaf.a .dia;=	 5,000
	 m%pdrKh	 1,500
	 kdgH ksIamdok úhoï	 15,000
	 úÿ,sh (1,500 x 2/3)	 1,000
	 laIh - f.dvke.s,s	 2,000
	 laIh - kdgH Yd,d WmlrK	 5,000	 (29,500)
Surplus		  11,500

(fmrjev-1)				    idudðl odhl uqo,a .sKqu

	 fYaIh b$f.	 700	 fYaIh b$f.	 300
	 wdodhï	 3,900	 uqo,a	 4,000
	 fYaIh m$f.	 200	 fYaIh m$f.	 500
		  4,800		  4,800	

	
(,l=Kq 07)

(uq¿ ,l=Kq 10)

06
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8 jk m%Yakh i|yd fhdað; W;a;r

	 *eà lf,laIka

	 2018 ud¾;= 31 Èkg

	 fYaI msßlaiqu			   (re.)
		  yr	 ner

m%d.aOkh  	 (fmrjev-1)		  31,500
bvï iy f.dvke.s,s		  13,000
fudag¾ r:		  9,000
laIh - f.dvke.s,s		  2,000
	      fudag¾ r:		  3,000
2017 wfm%a,a 01 f;d.h		  5,000
Kh.e;sfhda		  7,000
Khysñfhda			   9,000
f.úh hq;= úÿ,sh			   750
w¨;ajeähd iy kv;a;=		  500
úÿ,sh		  1,750
jegqma		  5,000
.ekqï 	 (fmrjev-3)	 47,000
.eks,s		  1,000
úl=Kqï	 (fmrjev-4)		  67,500
nexl=	 (fmrjev-2)	 14,500
	 		  108,750	 108,750

(,l=Kq 10)

fmrjev(

(fmrjev-1)
m%d.aOkh	 =	 15,000 + 7,000 + 5,000 + 6,000 + 6,000 - 7,000 - 500
			   =	 31,500

(fmrjev-2)					   
nexl= .sKqu

fYaIh b$f.	 6,000	 fudag¾ r:	 5,000
Kh.e;sfhda - (fmrjev-5)	 66,500	 Khysñfhda	 45,000
		  w¨;ajeähd yd kv;a;=	 500
		  úÿ,sh	 1,500
		  jegqma	 5,000
		  .eks,s	 1,000
		  fYaIh m$f.	 14,500
	 72,500		  72,500

07
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(fmrjev-3)					   
Khysñ .sKqu

uqo,a	 45,000	 fYaIh b$f.	 7,000
fYaIh m$f.	 9,000	 .ekqï	 47,000
	 54,000		  54,000

(fmrjev-4)
úl=Kqï(

	 wdrïNl f;d.h	 5,000
	 .ekqï (fmrjev-3)	 47,000
		  52,000
wvq l<d(

	 wjidk f;d.h	 (7,000)
	 úl=Kqï msßjeh	 45,000
o< ,dNh	 22,500
úl=Kqï	 67,500

(fmrjev-5)
Kh.e;s .sKqu

fYaIh b$f.	 6,000	 uqo,a	 66,500
úl=Kqï	 67,500	 fYaIh m$f.	 7,000
	 73,500		  73,500

(fmrjev-6)
úÿ,s úhoï .sKqu

uqo,a	 1,500	 fYaIh b$f.	 500
fYaIh m$f.	 750	 uqo,a	 1,750
	 2,250		  2,250
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9 jk m%Yakh i|yd fhdað; W;a;r

a)	 				          yjq,alrejkaf.a cx.u .sKqu			  (re. ‛000)

		  wYdka	 yIdka	 frdIdka		  wYdka	 yIdka	 frdIdka

fYaIh b$f.	 -	 -	 200	 fYaIh b$f.	 500	 300	 -

m%d.aOkh	 -	 -	 264	 fmd,S	 250	 150	 100

					     jegqma	 -	 180	 -

fYaIh m$f.	 1,478	 1,358	 -	 ,dN fldgi	 728	 728	 364

		  1,478	 1,358	 464		  1,478	 1,358	 464

(,l=Kq 04)

b)

					             yjq,alrejkaf.a m%d.aOk .sKqu			   (re. ‛000)

		  wYdka	 yIdka	 frdIdka		  wYdka	 yIdka	 frdIdka

lS¾;skduh	 1,080	 720	 -	 fYaIh b$f.	 5,000	 3,000	 2,000

Kh		  -	 -	 2,804	 lS¾;skduh	 720	 720	 360

					     m%;Hd.Kkh	 360	 360	 180

fYaIh m$f.	 5,000	 3,360	 -	 fYaIh m$f.	 -	 -	 264

		  6,080	 4,080	 2,804		  6,080	 4,080	 2,804

fmrjev(

úi¾ckhg fmr ,dNh		  2,500
m%d.aOkh u; fmd,S(

	 wYdka	 250
	 yIdka	 150
	 frdIdka	 100	 (500)
			   2,000
			   (180)
jegqma		  1,820
,dN fldgi(

	 wYdka	 728
	 yIdka	 728
	 frdIdka	 364	 1,820
			   -

m%;Hd.KKh(

	 m%;Hd.Kk jákdlu	 2,400

	 bvï iy f.dvke.s,s (1,800 - 300)	 (1,500)

		  900

09

C fldgfiys wjidkh'
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ch ^fm!oa.,sl& iud.u

2018 ud¾;= 31 Èfkka wjika j¾Ih i|yd

,dNd,dN iy fjk;a úia;S¾K wdodhï m%ldYkh

(re.‛000)

úl=Kqï		  368,000

úl=Kqï msßjeh (235,000 + 800)		  (235,800)

o< ,dNh		  132,200

úhoï(

	 fnodyeÍfï úhoï (fmrjev-02)	 (25,350)

	 mßmd,k úhoï (fmrjev-03)	 (34,400)

	 uQ,H úhoï (fmrjev-01)	 (2,500)	 (62,250)

nÿ fmr ,dNh		  69,950

wdodhï nÿ (fmrjev-04) (250 + 2,800)		  (3,050)

nÿ miq ,dNh		  66,900

10

										          D fldgi
tla wksjd¾h m%Yakhls'

(uq¿ ,l=Kq 25)

10 jk m%Yakh i|yd fhdað; W;a;r
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ch ^fm!oa.,sl& iud.u

2018 ud¾;= 31 Èkg

uQ,H ;;a;aj m%ldYh

(re.‛000)

cx.u fkdjk j;alï	 msßjeh	                 iuq' laIh      OdrK w.h

bvï	 20,000	 -	 20,000

f.dvke.s,s	 50,000	 16,000	 34,000

fudag¾ r:	 90,000	 45,000	 45,000

tl;=j	 160,000	 61,000	 99,000

cx.u j;alï

	 f;d.h (55,000 - 800)		  54,200

	 fjf<| ,eìh hq;= oE (45,500 - 500)	 45,000

	 ,eìh hq;= Kh i|yd fjka lsÍu	 (2,250)	 42,750

	 fmr f.ùï		  150

	 w;e;s iy nexl=fõ uqo,a		  750	 97,850

	 uq¿ j;alï			   196,850

ysñlu yd j.lSï

	 m%ldYs; m%d.aOkh		  45,000

	 r|jd.;a bmhSï (10,000 - 2,500 + 66,900)		  74,400

uq¿ ysñlï			   119,400

cx.u fkdjk j.lSï

	 10% Khlr			   25,000

cx.u j.lSï

	 f.úh hq;= Khlr fmd,S		  1,250

	 f.úh hq;= mßmd,k úhoï		  400

	 f.úh hq;= wdodhï nÿ		  2,800

	 KH.e;sfhda		  48,000	 52,450

	 uq¿ ysñlï yd j.lSï			   196,850
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fmrjev(

(fmrjev-01)	 - uQ,H úhoï

			   Khlr fmd,S	 2,500

(fmrjev-02)	 -  fnodyeÍfï úhoï

			   laIh - fudag¾ r:	 9,000
			   fnd,aKh	 500
			   fnd,aKh fjka lsÍu	 1,000
			   m%pdrKh	 (150)
			   fYaI m;%	 15,000
				    25,350

fmrjev-03)	 - mßmd,k úhoï

			   fYaI m;% (43,000 - 11,000)	 32,000
			   f.dvke.s,s laIh	 2,000
			   f.dvke.s,s kv;a;=	 400
				    34,400

(fmrjev-04)	 -                                              wdodhï nÿ

uqo,a	 2,650	 fYaIh b$f.	 2,400
fYaIh m$f.	 2,800	 ,dNd,dN	 250
		  ,dNd,dN	 2,800
	 5,450		  5,450

D fldgfiys wjidkh'
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Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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